SKYSCRAPER MELTS CAR
http://www.bbc.co.uk/news/magazine-23944679 

A BBC reporter in London explains the problem that buildings of a certain shape can create on the street below them.
TASK 1
Watch the video without reading the transcript and answer the following questions

1. How tall is the `Walkie-talkie’?  38 storeys
2. How much did it cost?  200 million pounds
3. Why is the building wider at the top than on the lower floors? To get more rent
4. Write numbers (1, 2, 3…) beside the objects in the order in which they are mentioned in the report: which are mentioned as suffering damage from the heat produced by the building:


parked car ( 4 )   tiles ( 5 )    carpet ( 1 )    plastic lemon ( 3 )  paintwork ( 2 )

5. Complete the proper name for the `Walkie-talkie’:  20   Fenchurch Street
6. What kind of food is served at the café mentioned in the report? Vietnamese
7. How does the owner of the building want to stop cars being affected by the problem in future? Blocking off part of the street from cars.
8. At what time of year does the problem occur? In the middle of summer
9. How many hours per day does the problem last? 2
TASK 2

Watch the video again and fill in the missing words:

Well, I’m in Eastcheap here in the city and as well as the traditional architecture which you see behind me, there’ve been lots of ambitious skyscrapers in recent years, most of them commissioned during the property boom. You’ve heard of the Shard, you may have heard of the Gerkin, you may have heard of the Cheesegrater, and up here is what’s become known as the Walkie-Talkie.  Thirty-eight storeys tall, costing more than 200 million pounds, it flares outwards at the top to maximize the rent – the rent’s higher in the upper floors -  but that has a problem associated with it. As any Boy Scout knows, if you have a curved mirror and you concentrate the light from the sun, you can set fire to something. Now this is curved and it’s meant that the light and the heat is focused on a point down here, just below the building, and this is the sort of effect that has. It can scorch a carpet, nearly setting fire to it in this local hairdresser in Eastcheap. And have a look here on the side. The paint has bubbled up from the heat. Even the products inside the window have been affected. That’s a plastic lemon, you can see the bubbles on it from the heat and the sunlight. Now behind me is something that’s become rather famous in the last couple of days - the exact spot where someone left his Jaguar just for a few hours but because of the heat found that when he returned the wing-mirror and various other plastic panels were melted. Now Lang Securities, the owner of 20 Fenchurch Street, the Walkie-Talkie, has said they want this area blocked off from cars so that doesn’t happen again. Not surprising when they’ve had to pay nearly a grand in damages to the man whose car was melted and they may have to pay something for this business, too – have a look at this. The tiles down at a local Vietnamese café. The grouting has become so hot that it’s just dried up and it’s not working any more. Now Lang Securities say that they did do the testing for the building. They did all the impact testing they should and it didn’t show anything of this sort, any problem of this sort. They say it will only happen when the sun’s at a certain height for two hours a day, and only then at the height of the summer. Nevertheless they do need some sort of long-term solution for this sort of damage.  
TASK 3
Match these words from the passage with the appropriate meanings:

1. ambitious



put a barrier around, prevent from being entered 8
2. commission (verb)


alter the colour of something by overheating it 6
3. boom




one thousand pounds 9
4. maximize



time when economic activity is at a peak 3
5. focus (verb)



flat, thin object which is fitted onto a flat surface 7
6. scorch




money someone can be ordered to pay to compensate for







harm they have caused 10
7. panel 




make as big as possible 4
8. block off 



effect 12
9. a grand (slang)


have something made or built by someone else for a special 






purpose 2
10. damages



material poured into narrow gaps between objects to solidify 






and hold them together 11
11. grouting 



bring something together at one point 5
12. impact




trying to achieve something big 1
TASK 4  

Answer the following questions:

1, Explain in your own words why the building produces this problem. Can you think of any other way to solve the problem than the one the owners have suggested themselves?

The curved glass surface focuses the sun’s light and heat at one point like a mirror. It woud be possible to solve the problem by blocking some of the windows or making the metal surfaces less shiny.
2. Why do you think the testing did not discover the problem?

They may hot have done the tests at the right time of year or the tests were not sufficiently thorough.
3. Explain the phrase `the height of the summer’.

In the middle of summer, when it is hottest
4. What problems can skyscrapers produce in Hong Kong?
They trap hot air and pollution making it iuncomfortable on the streets. If they are extremely high (like the IFC) they may spoil the view of the line of hills above.
